2,180 (B522,3981)

FEOID &I 7 A i e

200 LiED )  2ERO B LD RS,

U0 7 AR

1,880 #:22,0681)

BRLFFEUVICL . YyERVEL o

AR R -7 A %E
1,950m ®:522,145m)
KSR DBRIEIC U < 78 A B0 A X 7o — e

G102 e A £

1,980 (B522,1781)
HDETH R 5 ICH D 2.5 2/ BB DEE] ) 4 7 A TF .

HPEVFAER

2,450 81:22,695M)
—RDEABBbT LR AnE DI,



\!

r :II:.:&iEE:J : Q‘ﬁ
wholiagg L D

Tﬁ'ﬁﬁlifcﬁ/&
et RS 2 — R D
RIEHEX & PIESE - -

1 55013%(1%1_1 705)

a7DHHFFHERE XL THEX L&
Bee—2& @UIbELZADEY b,

?Eﬁ"ﬂwﬁl:fcﬁ&

1,650 (5:521,815m)

FEAFHEODERDWRFEOFEr—R L

BUVELZADEY R,

B3 3OHN
Sy MER

{"HSEE'H-—R g a—A BRI NG 3)

1 A80m (B2 1,628M)

*éé)ii@kﬂ'ﬂ‘&bﬁﬂ"&:ﬁﬁiﬁiﬁﬁ&bt&

wmUl0EA L
1,750m B521,925m)

FERIOKIG AL CHEE B e T3l
HUIDFZADEY b,




......

éélll%%é

$H—~ %ﬁ%ﬂﬁ

800 (Be2

880F‘])

REIIIEE S

.........

FMEZ L D 57 F
O80m (821,078

u;_z».fm,sabﬁla sy 7))
N—=T KRV AT —FEE

1,580 (Bia1,738m)
EIR - HFH - T—w2A—F1T3

7 i
Ahazog) 140 @a154m

rf1(180g) 180 Beia198m)
K (300g) 23 0] (miz253m)

b
>
o

O

O

*k&§§;:%ﬁ

1,180m #:521,29811)
EB - YK - T—2—7F1T3

Lhboh
TINVA—TER

O80r (B21,078M)
E YL« T—n2—71{F2

s s "....‘5 ‘__-::I,.__f |

F R T

:-ﬁﬁﬁﬁ“

200m(se2220r) 18&%{%198%
X&) DEE TG
490m (Bi:A5391) 4 30MBiA4731) 280 (8523081



